Workout

Question 1:

(a) 12 (b) 6 (c) 11
(e) 14 (f) 40 (9) 45
(i) 5 G) 3 (k) 2
(m) 49 (n) 100 (o) 9
(@) 15 (r) 23 (s) 38
(u) 23 (v) 22 (w) 51
(y) 2 (z) 6

Question 2:

(a) 30 (b) 8 (c) 120
(e) 2 (f) 27 (g) 34
Question 3:

(a) 2 (b) -3 (c) 3
(e) 16 () -12 (g) -14
(i) 2 (G) 48 (k) -3
(m) 12 (n) 30 (o) 20
() -1 (r) 2.5 (s) 3
Question 4:

(a) 8 (b) 50 (c) 39
(e) -27  (f) 0.25 (g) 80
(i) 2 G) 3.75 (k) 3
Question 5: 22

Question 6: 120

(d) 7
(h) 15

(1) 3.5
(p) 64
(t) 15
(x) 3

(d) 8
(h) 22

(d) -12
(h) -35
(1) 12
(p) 48
(t) 36

(d) 36
(h) 75



Apply

Question 1:

(a) £170

(b) £320

(c) 2 days

(d) 11 days

Question 2:

(a) £1.50

(b) £22.50

Question 3:

(a) 220 minutes or 3 hours 40 minutes
(b) 120 minutes or 2 hours
Question 4: £775

Question 5

(a) F=150

(b) F=68

(c) F=39.2

(d) C=2

(e) C=5

(f) C=44.4444..

(g9) -40



